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Question Number : 1 Question Id : 70819118304 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as

Reason K.

Assertion A : The escape velocities of p[anet A and B are same. But A and B are of unc-qua[

mass.

Reason R : The product of their mass and radius must be same. M;R; = M;R,

In the light of the above statements, choose the most appropriate answer from the options

given below :

Options :

70819160061, Both A and R are correct and R is the correct explanation of A

20819160062 Both A and R are correct but R is NOT the correct r_-xplanation of A

70819160063. A is correct but R is not correct

70819160064.

A is not correct but R is correct

Question Number : 1 Question Id : 70819118304 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Q760 9RF 9 Q2IKIRE | 651G 6AITEI A 8 ARG QIR 2R 5E0 6RI8T |
6B A: 62 A ¥9° B @ 08FdAe 0f6as QIS 268 | @2 A 6 R 6 20IF 999 698 |
ARG R : 6QIERR 929 I9° YARR gaTe GHe Qg m
MR, =M 2[5;
R06RI9 @E 2QQIER, FF6R 98 §98 9FR J69IAA AAA FAR @9
Options :

70819160061 Weld A 99° R 0@ 9%° R 6%« A Q O« QUisl |

70819160062, @99 A 9" R O @q R, A @ 0% @4iel q69 |
70819160063, A OR 6T @9 R OQ g2 |

70819160064, A O® 268 @3 R O) 266 |

Question Number : 2 Question Id : 70819118305 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 11 :

List - 1 List - 11
(a) h (Planck’s constant) (i) [MLT1]
(b) E (kinetic energy) (i) [MLZT™ ]
(c) V (electric potential) (in) ML2T-?
(d) P (linear momentum) (ivy ML2I"1T-9

Choose the correct answer from the options given below :
Options :

70819160065, (@ — (0. (b) — (ii), (c) — (iv), (d) — (iii)
70819160066. (a) — (iii), (b) — (iv), (c) — (ii), (d) — (i)

70819160067. (a) — (ii), (b) — (iii), (c) — (iv), (d) — (1)

70819160068. (a) — (iii), (b) — (ii), (c) — (iv), (d) — (i)



Question Number : 2 Question Id : 70819118305 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

iy
1

SRR 1 92 QA 11 ¢ fel2 :

GIaal -1 gl@@l - 11
(a) h (& Ye) (i) [MLT™]
(b) E (Q8% 43) (i) [ML2T-17]
(€) V (63959 399) (iii) [ML2T~?
(d) P (6Qga 9°696l) iv) [MI21-1T-9]

6 Q29 9a 9Een 0Q een Qg :
Options :

70819160066, (@ — (i), (b) = (iv), (€) — (i), (d) = (i)

70819160067. (a) — (i), (b) — (iii), (c) — (iv), (d) — (i)

70819160068, (@) — (iii), (b) — (ii), () — (iv), (d) — (i)

Question Number : 3 Question Id : 70819118306 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f the time period of a two meter long simple pendulum is 2 s, the acceleration due to gravity
at the place where pendulum is executing S.H.M. is :

Options:

- 2
70819160069, 16 m/s

70819160070, ™ ms ?



70819160071, 78 ms™ <

'3 g
70819160072, 27 ms =

Question Number : 3 Question Id : 70819118306 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

2% 9o fi0Q AAA 209 COGRAR ZINERIR 2 5, 6UE0IGR 6OGRFE d0p 21R6AIRR 66 AR

QQUE, 690I6R FIIREASEE Qad e
Options :

4 2
70819160069, 16 ™/5

70819160070, ™ ms ?

70819160071, 28 ms™ <

a3 a
70819160072, 27 ms =

Question Number : 4 Question Id : 70819118307 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A student is performing the experiment of resonance column. The diameter of the column
tube is 6 cm. The frequency of the tuning fork is 504 Hz. Speed of the sound at the given
temperature is 336 m/ s. The zero of the metre scale coincides with the top end of the resonance
column tube. The reading of the water level in the column when the first resonance occurs
is:

Options :

70819160073, [6-6 €™

70819160074, 184 cm



70819160075, 148 cm

70819160076, 1> €M

Question Number : 4 Question Id : 70819118307 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

P68 919 UQAIQ 97 QAAREH A8l @ged | 97 5998 MY 6 cm 6 | TR TR 2AQE
504 Hz 266 | 9@ 910719168 400 699! 336 m/s 266 | 29919 94 §g90 ada 49 f0a 6aag
ge(@eal) A8 | gan 2QQI9 69039 dNLER IREQ 49| FF 988 F0R(AEe) 6208

Options :

70819160073, 0-0 €M

70819160074, 184 cm

70819160075, 148 cm

70819160076, 1> €M

Question Number : 5 Question Id : 70819118308 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In an octagon ABCDEFGH of equal side, what is the sum of

e T S
AB +AC + AD + AE + AF + AG + AH,

— A A M
if, AO=2i+3 -4k

A B
H C
G D
F E
Options :
.z:_ _z._._ j .__,_:
70819160077, 101124 j+32k
70819160078, ~161 24 j+32k
70819160079, 101 ~24j+32Kk
) ."I'-. - _f\‘_ . _z:.
70819160080, 101124732k

Question Number : 5 Question Id : 70819118308 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ABCDEFGH 66164 @qle Qi@ ! W Qe &ﬁ-mﬁm‘é‘@@ Qe AO 2I+3j—4ﬁ. ded, 6ueW

B T T
%BIALI%DI%EI%FIALI%H ) ARE 6R60 629 ?

Options :
70819160077.



167 +24 j+32k

70819160078, — 16124 j+32k

70819160079, 16124 j+32k

e . -’1_ . A
70819160080, 10124732k

Question Number : 6 Question Id : 70819118309 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two satellites A and B of masses 200 kg and 400 kg are rc-volvmg round the earth at hoight
of 600 km and 1600 km respectively.

If T_ﬁi and TB are the time pE‘.‘I‘if}dS of Aand B respectivel}-' then the value of TB—TA :

[ Given : radius of earth=6400 km, mass of earth=6x10* kg |
Options:
3
70819160081, 1-33x 107 s

] ; 3
70819160082, +24x 107 s

Wi
70819160083, +:24* 107 s

2
70819160084, >-33 %107 s



Question Number : 6 Question Id : 70819118309 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

200 kg 96° 400 kg 929 G5@ A 6 B 9af R0¢2 Aa1ger 600 km €& 1600 km 899168 Q26"
915i06e a6Re4 @983 | 99 T, €% T, 0AIG6A A 6 B @ 2IRERIA, 6669 T;—T, & 7Y 268 :
[ @8: QA9 AT =6400 km 2910 98§ =6x10% kg |

Options :
3
70819160081, 1-33% 10 s

A4 2 K
70819160082, +-24%10% s

)
70819160083, +:24x 107 s

2
70819160084, 33 %107 s

Question Number : 7 Question Id : 70819118310 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A5 V battery is connected across the points X and Y. Assume D; and D, to be normal silicon
diodes. Find the current supplied by the battery if the +ve terminal of the battery is connected
to point X.

Dy 100
";..JI AN
D
% 510)
A 4'4"L",
X Y
Options :
70819160085, ~ U2 A
70819160086, ~ U043 A
70819160087, ~ 086 A
70819160088, ~ 12 A

Question Number : 7 Question Id : 70819118310 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

X N6° Y @ FRI6R 685 5V QUI6eR1g 2°6dIS @aIfISE | 88 Dy 99° D, 906 AIed AR,
QlI6aIe, | 94 QYIEERIR +ve (85 X @ TELIS 62IQEIN, 6662 Q116001 6UIEIRYS| G948 6919

Gda o9
Iéi{ m
Ej 5()
i A
$:

Options :



~f3 A

70819160085.
70819160086, ~ V43 A
70819160087, ~ 086 A
70819160088, ~ 12 4

Question Number : 8 Question Id : 70819118311 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 : A speech signal of 2 kHz is used to modulate a carrier signal of 1 MHz. The
bandwidth requirement for the signal is 4 kHz.

Statement II : The side band frequoncies are 1002 kHz and 998 kHz.

In the light of the above statements, choose the correct answer from the options given below :

Options :
70819160089. Both Statement I and Statement 11 are true

70819160090. Both Statement | and Statement 11 are false

20819160091 Statement 1 is true but Statement 1I is false

70819160092. Statement 1 is false but Statement 1l is true

Question Number : 8 Question Id : 70819118311 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



@E16a QA0 @9 QULILE

@8 1:1MHz 338 6015 9199 Q°6A9] FeRq @89l e 98 2 kHz 398 9o r6qe (Qe
deFiR) Ue9IR FAILIN | 66T QIR 2INNS ISl §4IE 2@l 4 kHz 268 |

@@ I1: 01§ 9ug 2198 §F% 69aI 1002 kHz 96° 998 kKHz |

QO6AI9 RIGPR 2RI, FF6a 98 Grg gPe fug 0 9eaE 9UR @9 :

Options :

70819160089 @& @ 199" Gw 11 964 26 |

20819160090, 224 @8 149<" @9 11 12aul 266 |

70819160091, @@ 1 € O® 26 @3 @@ 116 ¢l 26 |

20819160092, % 1 € 9A @3 @9 11 ¢ 964 266 |

Question Number : 9 Question Id : 70819118312 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two slatements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A : When a rod lying freely is heated, no thermal stress is developed in it.
Reason R : On heating, the length of the rod increases.

In the light of the above statements, choose the correct answer from the options given below :

Options :
70819160093, Both A and R are true and R is the correct explanation of A

70819160094. Both A and R are true but R is NOT the correct explanation of A

70819160095, A is true but R is false

70819160096, A 8 false but R is true



Question Number : 9 Question Id : 70819118312 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

G760 Qa5 98 QUILIGE | 6aIT AITEI A (6 9T Q1048 R 2068 T80 621083
CRIGEN A : 6D6P6T6R €9 QIR A9 99 240 Fa6 FAULN, 67
Q@

RI04 R : 607 6216, 065A 621 98 aIRaIN

QD69 @8 26, FF6a 98 T98 9FPG LIRM AN GO @A :
Options :

-.-.I.fr qa* O e T'._E -"‘:!H"g 1 1
70819160093. awel A 99° R 0Q 99° R 6268 AR 0@ «4I6H

70819160094. Geid A 99° R OQ @g R, A 0@ QYIetl ge%

A 96N 26 @9 R oM zeg
70819160095. ~

& L 4 H-‘"J-‘I 1! -
20819160096, » 712N Z6E @7 R @64 2i6€

Question Number : 10 Question Id : 70819118313 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The current (i) at time t=0 and t= = respectively for the given circuit is :

51 510
M
10 40
— LR
L
Options :
I18E SE
55 " 18

70819160097.



5E 18E
70819160098, 18 35

106 SE

70819160099, -- 18

5E 10E

70819160100, 18 33

Question Number : 10 Question Id : 70819118313 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Q@ 9940, 0692 Alel t=0 9e° t= » YGRS G948 6919 (i) YR 99

512 5 (1

L
Options :

18E SE
70819160097, 22 18

5E 18E

70819160098, 18 55

106 SE

70819160099, -° 18

'5E 10E

70819160100, 18 33



Question Number : 11 Question Id : 70819118314 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The pitch of the screw gauge is 1 mm and there are 100 divisions on the circular scale. When
nothing is put in between the jaws, the zero of the circular scale lies 8 divisions below the
reference line. When a wire is placed between the jaws, the first Iinear scale division is clearly
visible while 72" division on circular scale coincides with the reference line. The radius of
the wire is :

Options :
70819160101, 1-64 mm
70819160102, 0-90 mm

70819160103, U-82 mm

70819160104, 1-80 mm

Question Number : 11 Question Id : 70819118314 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6615 46680 09 1 mm 265 99° Y21 9RIRIR 62RER 100 RIG OPE | CUEEER6R @@ 98T
Qea G8 QUIKIA KA, QRIDIR 6AAE 99 (F6a1) T6a 6adl (aTEag RIBR) § 8 AIF 09]
QP2 | 6U6OEI6% 6916 O Q17 Q@I F1IER QYITN, GRIE AR (ARG JAC SIGT TGSIe
CONIRIN | 6Q606R6R QAR 6ARE 72 67 GISE Feud cadl A2 Gao 62iR 6RAN | GIRGe
QYIQE 6LRE

Options:

1.64 mm

70819160101.

70819160102, 0-90 mm



70819160103, 0-82 mm

70819160104, 180 mm

Question Number : 12 Question Id : 70819118315 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An a particle and a proton are accelerated from rest by a potential difference of 200 V. After
ﬁp
this, their de Broglie wavelengths are A, and A, respectively. The ratio -~ is:
iy

Options :

70819160105, 2.8

70819160106.

=]
= &

70819160107.

70819160108, -8

Question Number : 12 Question Id : 70819118315 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

9@ 200 V 388 GRQ Q8 QIQl 6818 a-Rdal 6 69159 69167 EQ 291G QA0 696
- = S hp -
21069, 6AAIRER G- 6216 0a 620 g aIRQEA A e A, 266 | 2QaIe - @ fasen
i |
@l 6298
Options :

70819160105, 2.8



70819160106, ©

70819160107, /-8

70819160108, -8

Question Number : 13 Question Id : 70819118316 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two coherent Iight sOurces having intensity in the ratio 2x produce an interference pattern.

max_ min

The ratio will be :

max | min

Options :

70819160109, X1

70819160110, <X *1

A 2x

70819160111, * 11

2.J2x

70819160112, **1

Question Number : 13 Question Id : 70819118316 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



2x ARUIGER 9196 g9l @EAT dUree ZiERIa @2 ITEad FaUa 98 Qge’

Lnax ~Imin AQUIe 629

Inm.\' | Imin

Options :

70819160109, 2¥+1

70819160110, 2* 11

Jx
70819160111, *+1

IZJE
70819160112, **+1

Question Number : 14 Question Id : 70819118317 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An engine of a train, moving with uniform acceleration, passes the signal-post with velocity

u and the last compartment with velocity v . The velocity with which middle point of the
train passes the signal post is :

Options :
u+o

70819160113, 2

70819160114, 2

|
70819160115, | 2




[0°—u

70819160116. 1J

Question Number : 14 Question Id : 70819118317 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

70819160114.

|
70819160115. \

I3

70819160116. 1J

Question Number : 15 Question Id : 70819118318 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A proton, a deuteron and an a particle are moving with same momentum in a uniform
magnetic field. The ratio of magnetic forces acting on them is and their speed is
, in the ratio.

Options :

70819160117. 4:2:1and 2:1:1



=

:1and 4 :

-2
=i

70819160118, 2

]

*4dand1:1:

2

70819160119, 1°

(. 7. .
70819160120, 1 :2:4and 2:1:1

Question Number : 15 Question Id : 70819118318 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A°6Q9 Q2 6OIEN 69195, 691G FY6TRR 99° 69T a - @@ Y@ df QAR 6RGER §F

e b
R088 | 690I9E 9060 Q1Y @029 QARIG 99 @ AFINEE 6900 2QUI9, UL YR

99" 69
Options :
70819160117, 2:2:19&° 2:1:1
70819160118, 2:1:1499°4:2:1
70819160119, 1124 9&7 1:1:2
70819160120, 1 - 2:49e°2:1:1

Question Number : 16 Question Id : 70819118319 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Magnetic fields at two points on the axis of a circular coil at a distance of 0.05 m and 0.2 m
from the centre are in the ratio 8 : 1. The radius of coil is

Options :

70819160121, 01 m

70819160122, 215> m



70819160123, V-2 m

70819160124, 1-0 m

Question Number : 16 Question Id : 70819118319 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6615 QRIRIR QEP1Q 28 QUER 12IR €28 01§ 0.05 m ¥e° 0.2m 9AGIER 49l 9aF §96n 48
QARG 6959 290I0 8 : 1 266 | QE916Q QS ceed

Options :

70819160121, 01 m

70819160122, V1o m
70819160123, V-2 m

70819160124, 10 m

Question Number : 17 Question Id : 70819118320 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The angular frequency of alternating current in a L-C-R circuit is 100 rad/s. The components
connected are shown in the figure. Find the value of inductance of the coil and capacity of
condenser.

R=60 ()

AWANAAS

15V

r= {
ey R0 &y

o—1



Options :

70819160125, 1-33 H and 250 uF

70819160126, 133 H and 150 uF

70819160127, -8 H and 150 pF

2 o
70819160128, -8 H and 250 uF

Question Number : 17 Question Id : 70819118320 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

6616 L-C-R 080266 golas 3916 69160 6218 2198 100 rad/s. 265 | §96a 44101829
29460 AUILIR 9FQ 69 RAIKI9E | @NAA J68I9asl ¥e° MI9ER UGSl 99 @4
R=601

A
15V

gy K400 Lg20V

o1

Options :

33 H 99° 250 uF
70819160125, 1 T 987 250 ub

33 122 15 2
70819160126, 00 1198 150 uF

0.8 H 99° 150 pF
70819160127.

0.8 H e® 250 uF
70819160128.



Question Number : 18 Question Id : 70819118321 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.|

J

"

. ¥ E
A diatomic gas, having Cp :;R and Cy==R | is heated at constant pressure. The ratio
dU:dQ:dW:

Options :

e |
]

70819160129, 2

70819160130.

70819160131.

=1
T

70819160132, 2

Question Number : 18 Question Id : 70819118321 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o oy o e ) |
Cp=2R w@* Cy=_R 20l 66154 Q0aAI4R G4IQ] §Q 01960 907 el | dU: dQ:dW @
AR IO 6968

Options:

=]
I3

70819160129, 2

70819160130.

70819160131.

|
(¥

70819160132, 2



Question Number : 19 Question Id : 70819118322 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Two radioactive substances X and Y originally have l\]l and N2 nuclei respectively. Half life
of X is half of the half life of Y. After three half lives of Y, number of nuclei of both are equal.

The ratio L will be equal to :
Np

Options :

r—"|=._.-J.

70819160133.

__,._1|,._1'

70819160134. -

70819160135.

70819160136. 8

Question Number : 19 Question Id : 70819118322 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

YR

[~}

Z|H'F-

2R 985 6eeda gQld X 99° Y @ QIQIeQ Qdl JaIged N, 6 N, 88 | X o 26 2
Q

BARRIGE Bl A6S | Y  OF U g A6 969, 9aF QINA QI910Q Qe AR 6908

dadle 49t 6%

Options :

r—*|=,.-.?.

70819160133.

-_,._}|,_1'

70819160134.



70819160135.

70819160136. 8

Question Number : 20 Question Id : 70819118323 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A solid sphorr_- of radius R gravitaﬁf}naﬂ}-’ attracts a particle placr_-d alt 3R from its centre with

K
R
a force F,. Now a spherical cavity of radius I = | is made in the sphere (as shown in figure)
: 3]

and the force becomes F,. The value of F, : F, is

Options :
70819160137, 120
70819160138, 20+ 41

70819160139, 20+ 2

70819160140, = * 20

Question Number : 20 Question Id : 70819118323 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
R QuiQe G988 9@ 89 colne 92IQ 62 01§ 3R QAGIER &9l 9q @dqiq F, ea6a alkiedda

—_—

¥
L%

244 RQZE | QAR 6EINRE e [ ] QUae Gda 99 caIRIRle 99a (NIGE) d2a

"

RaI9R! (5968 94ILIAYSl 29QAU6A) 1&° 906 F, 6206l | F/F, @ (Rl 68 |

Options:

41 : 50

70819160137.

70819160138, 20 * 41

70819160139, 26 : 25

70819160140, = 0

Physics Section B
Section Id : 708191761
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20

Mark As Answered Required? : Yes



Sub-Section Number : 1
Sub-Section Id : 7081911041

Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819118324 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A monoatomic gas of mass 4.0 u is kept in an insulated container. Container is moving with
velocity 30 m/s. If container is suddenly stopped then change in temperature of the gas

X
=0, ant) is —. V. fri
(R=gas constant) is R Value of x is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819118324 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1@ QU6 dIeR6a 4.0 u 9999 66169 @ AAMIEND SiIg SRR | MAKE 30 m/s
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 22 Question Id : 70819118325 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

512 identical drops of mercury are charged to a potential of 2 V each. The drops are joined to
form a single drop. The potential of thisdropis V.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 22 Question Id : 70819118325 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

4@l 96 512 § 2199 62101 g6eYR 2V §89] 060 @RISRl | 691019@e fAaa 6218 661a
QEIGRI | 92 60IAI6R 889 6RIRE f66

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819118326 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A coll of inductance 2 H having negligible resistance is connected to a source of supply
whose voltage is given by V=3t volt. (where t is in second). If the voltage is applied when
t=0, then the energy stored in the coil after4sis .

Response Type : Numeric

Evaluation Required For SA: Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819118326 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Golgy goeald A1a 9@ 2 H 96819as! 91 918 94919 6915 6aISISRIG1 @2 98 9°6QI9 RAUKIRE
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J
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819118327 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A small bob tied at one end of a thin string of length 1 m is describing a vertical circle so that
the maximum and minimum tension in the string are in the ratio 5 : 1. The velocity of the bob
at the highest position is m/s. (Take g=10 m/s?)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 24 Question Id : 70819118327 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
I m 6361 589 9@ 06qI 9oIR 6515 960 9! 6RIRASI 6015 9 99 9@ AR 986R 66

R0E 6UA0R 20F0ER 6RRRGI 96919 Y9° YIRE 6PRIARA FRUIG 5:1 66 | AFT ARER
Q960 06696 628 m/s | (¥8 g=10 m/s?)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 25 Question Id : 70819118328 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The potential energy (U) of a diatomic molecule is a function dependent on r (interatomic
distance) as

1 % 3
rlﬂ r

where, a and p are positive constants. The equilibrium distance between two atoms will be
; d

2a )b
— |, where a=
5 )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 25 Question Id : 70819118328 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819118329 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

i

4 o
= EqJ

& s 80 g = % o
Theelectric field in a region is given by E = ['TL-'UI I
| 0 J J

% The ratio of flux of repf}rted

field through the rectangular surface of area 0.2 m? (parallel to y—z plane) to that of the
surface of area 0.3 m? (parallel to x—z plane) is a: b, where a=

[Here E , if and k are unit vectors along x, y and z-axes respectively]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 26 Question Id : 70819118329 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

2g 9964 291 99e 994)

Question Number : 27 Question Id : 70819118330 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A transmitting station releases waves of wavelength 960 m. A capacitor of 2.56 pF is used in
the resonant circuit. The self inductance of coil necessary for resonance is

__________ x10~% H,

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819118330 Question Type : SA

Correct Marks : 4 Wrong Marks :

0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819118331 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The same size images are formed by a convex lens when the object is placed at 20 cm or at
10 cm from the lens. The focal length of convexlensis __ cm.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819118331 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

CLIEEERER 6EIEY Q9] ¥ QAR LRI 01§ 20 cm @Al 10 cm 99OIER QEILN, AIQ BINIRS
06GA 98 600N | 989 H9RIOFH 6UIRd (RdY 6998 om

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 29 Question Id : 70819118332 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In a certain thermodynamical process, the pressure of a gas depends on its volume as kV?,
The work done when the temperature changes from 100°C to 300°C willbe _____nR,
where n denotes number of moles of a gas.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819118332 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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BI9AIGI 100°Cq 300°CR OGRS 689, @IdY QGR 689 __ nR,

60@0 ‘n’ NIQR EAIR QHMIQ Q41N

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819118333 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

In the given circuit of potentiometer, the potential difference E across AB (10 m length) is
larger than E, and E, as well. For key K, (closed), the jockey is adjusted to touch the wire at
point |, so that there is no deflection in the galvanometer. Now the first battery (E,) is replaced
by second battery (E,) for working by making K, open and K, closed. The galvanometer

’ Lo LB, @&
gives then null deflection at ]2. The value of L—l is E ,where a=
2

Rh J;¢—60 cm—>
| S
B< Im >

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819118333 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Chemistry Section A
Section Id : 708191762
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 20



Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911042
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819118334 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The plots of radial distribution functions for various orbitals of hydrogen atom against “r’ are
given below :

The correct plot for 3s orbital is :
Options :
70819160151, (&)

70819160152, (P)

70819160153, (©)



70819160154, D)

Question Number : 31 Question Id : 70819118334 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2IQ6GI6FE TafIKe F6R QA1 02969 UIW caFan 889197 TRR 9Fea ‘¥ F086a 6RHEY
Q6% LEIYIA :

3s RER Ci9 CRYERE 6968 :



Options :

70819160151, (&)

70819160152, (P
70819160153,

70819160154.

Question Number : 32 Question Id : 70819118335 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

According to molecular orbital theory, the species among the following that does not exist is :

Options :

0,°
70819160155.

70819160156, | €2

70819160157, 22

Hes®
70819160158,

Question Number : 32 Question Id : 70819118335 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2geee o2y (MOT) 219ai6a 76 69 geica 299 919, 6998 -
Options :

70819160155.



A
O

70819160156, 1 1c2

70819160157, B2

He,
70819160158,

Question Number : 33 Question Id : 70819118336 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The solubility of AgCN in a buffer solution of pH=3 i.s x. The value of x is :
[Assume : No cyano complex is formed ; K, (AgCN) =22 10 16 and K (HCN) =6.2x 1017

Options:

70819160159, 0-625x10°°

70819160160, 1-6%107°

. 16
70819160161, 2:.2x 107

5
70819160162, 1-2 % 10

Question Number : 33 Question Id : 70819118336 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

pH=3 29I 4@ 90 99965 AgCN Q 994196l 6998 x| xQ Y 628 | (yQIQ
calad dzieql 2°qR G2d 62I0RR)
(K,,(AgCN)=22x10-16 qe° K (HCN)=6.2x10-10)

.‘iP



Options :

70819160159, 0-625x10°°

: 6
70819160160, 1-0 <10

r3
-2

16
70819160161, 22X 107

5
70819160162, 1-2 % 10

Question Number : 34 Question Id : 70819118337 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In Freundlich adsorption isotherm at moderate pressure, the extent of adsorption ‘i is

I

directly proportional to I**. The value of x is :
Options :

70819160163, 1

70819160164, “1°

70819160165. =

70819160166.

Question Number : 34 Question Id : 70819118337 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



CTOR0E ZNEAIAE Q6CIS CaUIER kI NRE FITER, ZNEAITR FIQ {i

], P* 9@¢ deIQTIo1
i

19 ¢a 6998 :

Options :

70819160163. 1

70819160164, “¢T°

70819160165.

70819160166.

Question Number : 35 Question Id : 70819118338 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ellingham diagram is a graphical representation of :
Options:

70819160167, AGvsT
70819160168, AHvs T

70819160169, G vs P

70819160170.

Question Number : 35 Question Id : 70819118338 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



RERIN 69 ROAe @6Q :
Options :

70819160167, AGvsT

70819160168, AH vs T

70819160169, AG vs P

70819160170.

Question Number : 36 Question Id : 70819118339 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following equation depicts the oxidizing nature of H,O, ?
Options :
20819160171, KOs + H,0, — KIO; +HO + 0,

2 yi Y
70819160172, 12+ H20,+20H™ - A~ +2H,0+0,

t
70819160173, 2 TH0p +2HT — 1, + 2H,0

- 2
70819160174, Szt Ha0y — 2HUH O,

Question Number : 36 Question Id : 70819118339 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
GRge aMeed fug e H0,0 fR@id gaq ada @6a ?

Options :



KIO, + H,0, — KIO, +H,0 +0,

70819160171

20819160172, 12+ Ha02 #20H™ — 21~ +2H,0 +0,
0819160173, A~ HHy0, +2H* = 1, +2H,0
70819160174, “l2t H202 = 2HU 10O,

Question Number : 37 Question Id : 70819118340 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct statement about B-H is :

Options :

70819160175, Al B—H—B angles are of 120"

70819160176 The two B—H—B bonds are not of same length.

70819160177, lerminal B—H bonds have less p-character when compared to bridging bonds.

70819160178. Its fragment, BH; , behaves as a Lewis base.

Question Number : 37 Question Id : 70819118340 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ei)

B,H, 2la a0 996 2@
Options :

& L ) e
70819160175, 9@ B—H—B &aldl 120



20819160176, 286 B—H—B @8 @l Qaie ga |

a dQie) B—H Q@9 | : soa) o ey
20819160177, 2'@2(cadeiR) B—H @aa p- 44 6aq (Yoar) @801q @A

196 a7 Z1°E ol ] Ff. NORIE 66 Al
70819160178, J9'6 4@ 2°8 BH, Q@9 418 96 Q1991 6Q8i

Question Number : 38 Question Id : 70819118341 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I~ :  CeO, can be used for oxidation of aldehydes and ketones.
Statement II  : Aqueous solution of EuSO, is a strong reducing agent.

In the light of the above statements, choose the correct answer from the options given below :

Options :

70819160179, Both Statement I and Statement 1I are true

70819160180. Both Statement I and Statement Il are false

708191607181. Statement | is true but Statement 1l is false

70819160182. Statement |1 is false but Statement 1l is true

Question Number : 38 Question Id : 70819118341 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :



20819160179. G ee 199° 11 0R

70819160180, “¥< @@ 1" I4ga

2@ 10 @2 a6 11 9a
70819160181, = | OR @3 @8 ll4R
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70819160182, &% 1 &%

Question Number : 39 Question Id : 70819118342 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which of the following pairs, the outer most electronic configuration will be the same ?
Options :

70819160183. V** and Cr*

70819160184, Cr* and Mn**

70819160185, Ni*" and Cu’

o ~ 4
70819160186, e~ and Co

Question Number : 39 Question Id : 70819118342 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

QONGD 6KIP F&6 IV FLYOF AEAREFID IR AT 89 ?
Options:

70819160183. V>* and Cr*



70819160184, Cr' and Mn**
70819160185, Ni*" and Cu

4 2 F F —u }
70819160186, Fe~ and Co

Question Number : 40 Question Id : 70819118343 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The hybridization and magnetic nature of [I\;In{CI\IJ&]4 and [FD{CI\I){-]]3 , respectively are :
Options :

20819160187, @-sp” and paramagnetic

70819160188, P '@ and diamagnetic

70819160189 d*sp® and diamagnetic

32 e :
20819160190, 5P @~ and paramagnetic

Question Number : 40 Question Id : 70819118343 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
[Mn(CN)]*~ 4@° [Fe(CN)J?~ @ @°@0d 9e° gAR1e gad daIges :
Options:

Al 3 Ace T -\"ﬂ' _-r‘-l.
70819160187, ¢ 57 ¥ QLA

342 Ay T‘:I-.IFL.\_,__?‘
70819160188, 7 ¢ 9" 4eQAEE



F4 3 o [l s &'\1 1
70819160189, 5P 99" 90QAGIE

W2 99° ARSARL
70819160190, P 4 987 BRLAR1E

Question Number : 41 Question Id : 70819118344 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I :  An allotrope of oxygen is an important intermediate in the formation of
reducing smog.

Statement 11 :  Gases such as oxides of nitrogen and sulphur present in troposphere
contribute to the formation of photochemical smog.

In the light of the above statements, choose the correct answer from the options given below :

Options :
70819160191, Both Statement | and Statement Il are true

70819160192. Both Statement I and Statement 11 are false

70819160193. Statement 1 is true but Statement 1l is false

70819160194. Statement 1 is false but Statement 1l is true

Question Number : 41 Question Id : 70819118344 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
20819160191, 0@ @8 196 11 O]

70819160192, #4& @@ 1w L &%
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70819160193, @

EE Wi
70819160194. o

Question Number : 42 Question Id : 70819118345 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Complete combustion of 1.80 g of an oxygen containing compound (C,H O,) gave 2.64 g of
CO, and 1.08 g of H,O. The percentage of oxygen in the organic compound is :

Options :

70819160195, 20-33
70819160196, 93.33
70819160197, ©3.53

70819160198, 21.63

Question Number : 42 Question Id : 70819118345 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

2P6e6 dIRd @69l 180 g8 edida (C,H,0,) @ A 2e06a 2.64 96l CO, 4 1.08 gifl
H,0 @41 659 64060 226059 96901 (%) 6268 :

Options:



70819160195, 20-33

70819160196, 93.33

70819160197, 63.53

70819160198, 21.63

Question Number : 43 Question Id : 70819118346 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Idr_-ntif}-' A in the given chemical reaclion.

_~CH;
CH Mo,O o
2 CH, 203 RN
L . ~~ 7 773K,10-20atm  major product
3
H‘CHE'/ \“CI—I;
Options :
70819160199. :
: CHs,
70819160200.
70819160201. :
: .CHj,

70819160202.



Question Number : 43 Question Id : 70819118346 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

QLG 4oRAGen A @ S92

_CH,
CH Mo O
: CHy ———— - A
! o 773 K,10-20 atm  major product
CH, _CH_
“NcH, CHs
Options :
70819160199. :
: . CHj;
70819160200.
70819160201. :
: CH,

70819160202.

Question Number : 44 Question Id : 70819118347 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Identi_f}-' A and B in the chemical reaction.

—HE o [A] Nal = [B]
(major) dry acetone (major)
NO,
Options :
OCH,4 )
Cl Cl
r'*'L = H -
] NO
70819160203. NG, 2
OCHj, OCHj,4
Cl I
A = B =
NO, NO,
70819160204.
OCH;, 1
A = B —
Cl Cl
NO, NO,
70819160205. °
OCHj, OCHj;
Cl
J""'h - B ==
Cl
70819160206. e Do

Question Number : 44 Question Id : 70819118347 Question Type

Is Question Mandatory : No

: MCQ Option Shuffling : Yes



Correct Marks : 4 Wrong Marks : 1

OCH;
HCI A]
(majnr}
NO,
Options :
OCH,
Cl
r""L =
70819160203. NO,
OCH,4
Cl
r""L =
NO,
70819160204.
OCH;
A=
Cl
NO,
70819160205.
OCHj,4
Cl
A =
70819160206. N

Nal

> [B]

dry acetone (major)

=
I
)

NO,

OCH,

B =

NO,

Question Number : 45 Question Id : 70819118348 Question Type

: MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The major product of the following chemical reaction is :

1) HO*, A
_ 2) SOCl,
CH;CH,CN > ?
3) Pd/BaSO,, H,

Options :

70819160207. S Sl S

70819160208, (CHaCH,C0),0

70819160209, HaCH2CH;

H,CH,CHO

70819160210, ©

Question Number : 45 Question Id : 70819118348 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

¢ QUORe gORATH Y A9 6268 :

1) H,O*, A

2) SOCl,
CH,CH,CN > 7
3) Pd/BaSO,, H,

Options :

70819160207. el

70819160208, (CHaCHC0),0

708191602009. S e e

70819160210, “HaCHCHO

: MCQ Option Shuffling : Yes



Question Number : 46 Question Id : 70819118349 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following reactions will not form acetaldehyde ?
Options :

Pd(11)/ Cu(II)

CH,—CH,+0O
2 2 2 H,0

70819160211.

CH;CH,OH -

70819160212.

i) DIBAL-H
i) H,0

CH5;CN
70819160213,

u
CH,CH,OH W
70819160214. o

Question Number : 46 Question Id : 70819118349 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— — sl -~ -

3¢ 98@al gFee 6Rwt YICINELIRE 9299 /Fe Q1@ ?

Pd(11)/ Cu(II)

CH,— CH,+0O
2 2 2 HZD

70819160211.

b CI’DB—ITESD_:i_
CH;CH,OH -

70819160212.



i) DIBAL-H

CHyCN ———
70819160213, it) Hy
Cu
70819160214 37

Question Number : 47 Question Id : 70819118350 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Compound(s) which will liberate carbon dioxide with sodium bicarbonate solution is/are :

e COOH OH
NO, NO,
8 = B= -
NH, NH,
OH o,
Options:
70819160215, ‘* and B only
70819160216, = O™
70819160217, © and Conly

70819160218, Bonly

Question Number : 47 Question Id : 70819118350 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



1

6QIFEF VINAEFNERE LG ATNRIC G606 9909 6dde (gea) cead
NH, COOH OH
NO, NO,
NH, NH,
OH NGO,

Options :

70819160215, 2 99" B

70819160216, @97 C

70819160217, B 9e°C

70819160218, @@ B

Question Number : 48 Question Id : 70819118351 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following reaction/s will not give p-aminoazobenzene ?

NO,
o i) Sn/HCI
ii) HNO,
iii) Aniline
NO,
5 i) NaBH,
B ii) NaOH
iii) Aniline
NH,
c i) HNO,
) ii) Aniline, HCI
Options :

70819160219, “* only



70819160220, & 0¥

B only
70819160221. i

70819160222, A and B

Question Number : 48 Question Id : 70819118351 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
FORYe 60w 985 (g8a) p- «fieal 2Iew 6aFe @9 G ?

NO,
i i) Sn/HCl
i) INO,
iii) Aniline
NO,
3 i) NaBH,
B ii) NaOH
iil}) Aniline
NH,
e i) HNO,
- ii) Aniline, HCI
Options :

70819160219, S@9% A
70819160220, 5@9@ C
ca9q B

70819160221.

70819160222, A 9<° B



Question Number : 49 Question Id : 70819118352 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which statement is correct ?

Options :
70819160223, Buna-N is a natural polymer.

70819160224. Buna-5 is a synthetic and linear thermosetting polymer.

70819160225, Nenprmm is an addition copnl}fmer used in plastic bucket manufacturing.

20819160226. Sj,fnﬂmsis of Buna-S needs nascent OXy gen.

Question Number : 49 Question Id : 70819118352 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6aW cOITR OR ?

Options :
Vo] I a6 00 Q00
70819160223, & - N @ QIRe@ @gaq
QR - S9m 680 9e° chYR dedcube eeaa
70819160224, * %
5’:‘1[ ”5:1 A0 00 R G 990 918 E_jﬁ. allalal CISREE SN9e0 o4
20819160225, 30 9@ 6UICIFNR 99 QRE@ 419l JI9e QIR @givaet Yeee 9
QG| - S TEQILER 6R6dE FPEFT 9ARIQ
70819160226. *

Question Number : 50 Question Id : 70819118353 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the glycosidic linkage between galactose and glucose is present in lactose ?
Options:
70819160227, ©-1 of galactose and C—4 of glucose

70819160228 C-1 of galactose and C-6 of glucose
70819160229, C-1 of glucose and C—4 of galactose

70819160230. C-1 of glucose and C-6 of galactose

Question Number : 50 Question Id : 70819118353 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

RIRECIFER 2T FIRNINETIR I8° YERIR (260 AR YRERTER A°6IeT 2T ?
Options :

JIRIREIRa C-199° geriea C4
70819160227. 2

AIRMRECIRNE C-1 99° geriea C-6
70819160228. <

q6aIea C-1 98° QIRIREsIea C-4
70819160229. =

gexiea C-199° gIRIResIea C-6
70819160230.

Chemistry Section B



SectionId: 708191763

Section Number : 4

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10

Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 7081911043
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819118354 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

N
0.4 g mixture of NaOH, Na,CO, and some inert impurities was first titrated with 10 HCl

using phenolphthalein as an indicator, 17.5 mL of HCI was required at the end point. After
this methyl orange was added and titrated. 1.5 mL of same HCI was required for the next
end point. The weight percentage of I\IELE'CO3 in the mixtureis . (Rounded-off to
the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 51 Question Id : 70819118354 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



. _ N _ _
NaOH <@° Na,CO; 9° 8% 394 249 001 04 917 Ag4 ga6a - HCl we* denoaie,

Q@9 01E65Q6, @aleRl | 24846 17.5 mL HA @0@Ia @6l | 91a6a fade, 26as
0698 28494 Q18 15 mL 628 ar1e HCl 2919 6291 | Na,CO, @ 96091 6% Hg66a 6268

(Gaeer gdaguea 00de @f)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819118355 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A car tyre is filled with nitrogen gas at 35 psi at 27°C. It will burst if pressure exceeds 40 psi.
The temperature in °C at which the car tyre will burst is . (Rounded-off to the
nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819118355 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

4R ARA FIBINGEA FINEEIERR SHIY 27°C 19° 35 psi 67 9R *AIGRI | 97 910 40 psi 2559 959
4@ gIfde | 919 fIIe TIE9Ie 21018l °C 60 62RE

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819118356 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The reaction of cyanamide, NH,CN, with oxygen was run in a bomb calorimeter and AU
was found to be —742.24 k] mol ~ L. The magnitude of AH,qg for the reaction

— 3 : _

is kJ. (Rounded off to the nearest integer)

[Assume ideal gases and R=8.314 ] mol "1 K 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819118356 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

QIRIFIRE NH,CN g90 26eaa gORdl 6aITY oF cRRIATCRR ARIERI 49° OISR
AU 6268 —742.24 k] mol ~?

. 3 : : _ e -
NHyCNig + 5Oy = Noyg) + Oy + H)Opy 98Q 01 018 AHyg0 6691909 628
_____ k] | (Gac00 gdaguea adde aa)

(224 SNIQ 6QIR 698 @8 9e° R=8314 Jmol 1K™ 1)

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819118357 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1 molal aqueous solution of an electrolyte A,B, is 60% ionised. The boiling point of the solution
atlatmis K (Rounded-off to the nearest integer)

[Given Ky, for (H,0)=0.52 K kg mol 1
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819118357 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A,B; QERER INIREE 1 6AIRIR F@1d 994 60% 2eLIFIaE €4 | 1atm 68 @QdQ 4071w 6999
K1 (G060 gdaceicn 0846 @0)

(998 : K, for (H,0)=0.52 K kg mol )

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 55 Question Id : 70819118358 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
In basic 11mdiuml{_'r{)42 oxidises .5'2(}32 to form lf_;{}.lz and itself changes into .(_'r({_}] D)y -

The volume of 0.154 M CrOf required to react with 40 mL of 0.25 M 52{')32 is

mL. (Rounded-off to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819118358 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

ARG FIFER L—ruf ,'52@32 R 7106 98 'mf 608 Q6a 9e° F6F I{_'r.[{}j ), @ a8ede
291 40mL0.55M 50,2, 0154 M (30,2 @06 gBQal @89l 0id 20RIa 4]l 21067
6908 mL | (Geced g4 erguea 08de @)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819118359 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

1
For the reaction, @A +bB — cC+dD, the plot of log k vs T 15 given below :

T slope =—10000 K
log k
1/1" —

The temperature at which the rate constant of the reaction is 10~ 4 s~ 1 is
(Rounded-off to the nearest integer)

[Given : The rate constant of the reaction is 1072 s 1 at 500 K]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 56 Question Id : 70819118359 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

o \-, 1 o g % "
do@el aA+bB — cC+dD dial log k vs TE‘J_ ERSIRE L QR Qaldiag

@018 916 e 10451, Q19| coa

1
1

=3}

6916 QIUFIRIER 9@ ¢

s

(GReed gd aeaMen 9ade @a)
g@a : goR e ¢k §ais 500K 6 6eas 10251

T e-;lnp-:: = —10000 K
log k

1,4"{. —

Response Type : Numeric

Evaluation Required For SA: Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819118360 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The ionization enthalpy of Na* formation from Na,, is 495.8 k] mol~!, while
the electron gain enthalpy of Br is —325.0 k] mol~!."Given the lattice enthalpy
of NaBr is —728.4 k] mol 1. The energy for the formation of NaBr ionic solid is
=) - =i lk] mol 1.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 57 Question Id : 70819118360 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Na(g} Q Nat 607 QIdl 260I61R6R4R YaInT 6998 495.8 kI mol~! | 20R08ER Bra 96Ag.q

6612 aind 6288 -3250k] mol~! | NaBre @18 waiad @2gi98 — 7284 k] mol ! | NaBr
2168170 @07 @2 €08 iR 69 6208 (=) x1071k mol!

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 58 Question Id : 70819118361 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Among the following, the number of halide(s) which is/are inert to hydrolysisis .

(A) BF, (B) SiCl, (C) PCl (D) SF,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819118361 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A0Rg0 2R0e (FIG) AR 606 (SFR) OF 2aNes gaal 96 P8a OF ey 6268

(A) BF, (B) SiCl, ) PO (D) SF,
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819118362 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Consider the fol[owmg chemical reaction.

CH = cH 1) Red hot Fe tube, 873 K W
=0 T Co, HA, Al ‘

The number of .-;pz hybridized carbon atom(s) present in the productis .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819118362 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

—

Gf QAIBEe 966

J)

AIgy Soag F2

L=,

1) 18 @a9 Fe @91, 873 K
2) CO, HCI, AICI,

CH = CH = Gaw

RAIPER A9 sp? ARG IR TG IR QU ORE

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819118363 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Usf_ng the pmvided information in the [ nﬂowf_ng paper d'nmn"uatogram :

A =]
™SGolvent front
Be A
2cm
Beom
Ae : 4
2cm
b S T TTra——— W
/ i
7 = Base line
Spot

Fig : Paper cl‘uromatograph}-' for compf}unds A and B.
the calculated Rf value of A %101,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819118363 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

dg6a FR0IRa9l 6009 6]IFIERIgIR ORI IR 6 :

s =]
aSplvent front
B . -~
2cm
Som
A X
2ecm
w ......?‘............ w
e A Hage line
Spot

Fig : A 99° B 6dI6aa 6006 6RIFI6EIG I
A @ 96919 R, gaY 6268 x10-1

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Mathematics Section A
Section Id : 708191764
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911044
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819118364 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Letf, ¢ : N — Nsuch that f(n +1)=f(n) + f(1) ¥ neN and g be any arbitrary function. Which

of the following statements is NOT true ?
Options:

70819160241 If fis onto, then f(n)=n ¥ neN

70819160242. fis one-one



70819160243. If ¢ is onto, then fog is one-one

70819160244. If fog is one-one, then g is one-one

Question Number : 61 Question Id : 70819118364 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A6Rae f, g: N = N, 620a&@ f(n+1)=f(n)+f(1) ¥V neN 9aF Ua8 99° g 1@ AgIgaIQ!
a(~
GE6a 29l 606 06 (R28)F a0 Q6 ?
Options :

103 ) g — g
20819160241 19 faRg, 6969 f(n)=nV neN

70819160242, | o9& 2ee

e 1 A A
70819160243, ¢ 8 URY, 666 fog @@

a8 fog IR-IR, 6669 g IR-9Q
70819160244, JO8 44, g 9@

Question Number : 62 Question Id : 70819118365 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let the Iinesl(z —i)z=(2+ i)z and '(2 +i)z+ (i-2)Z-4i=0, (herei’=-1) be normal

toacirde C.Iftheline iz+ Z+ 1+i=0is tangent to this circle C, then its radius is :
Options :

70819160245, 32



3
> | -
3]

70819160246.

1“”

70819160247, 22

|G'1| ’1"‘.

70819160248, ™

Question Number : 62 Question Id : 70819118365 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

& 2

A6RRR (2 —i)z= R+ )T 6 Q+i)z+ (i- QT - 4i=0, (P=-1) A%I9a 9@ 98 C g6

QR 19D 60dl iz+ Z+1+i=0 @8 98 C Q 29, 6069 121R UQAE 6P :
Options :

70819160245, V2

JH

(=]
<
(%]

70819160246.

:udb’

70819160247, 2V

ITJ"]| ’1’".

70819160248, ™

Question Number : 63 Question Id : 70819118366 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The integer ‘K, for which the inequality x>~ 2(3k — 1)x +8k?~7 > 0 is valid for every x in R,
i8:



Options :

R

70819160249.
70819160250.
70819160251, 4

70819160252, U

Question Number : 63 Question Id : 70819118366 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
gaeeay “k” Qi@ el K-2(3k - 1) +8k2-7 > 0 2QrMaads 63y (29e), (g6eie Q199
Q8 x Igl) Q21 26T

Options :

70819160249, 2
70819160250, °
70819160251, 4

70819160252, U

Question Number : 64 Question Id : 70819118367 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o a
2n T it D .
0,y= ) sin""dandz= 3 cos?™9 . sin™ ¢ then :

i n=0 n=0

f0o<n,d <o.¥= L cos

Options :



70819160253, ¥ ~z=(x 1t y)z

70819160254, ¥ 1z=(xty)z

70819160255, *Y tyztzx=2

70819160256, “VZ =4

Question Number : 64 Question Id : 70819118367 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= o
Zn v e T G e y o
9 y= Y sin™¢ qerz = 3 cos”"0 . sin”¢, 6069 :

= n=0 n={) n=0

e m ‘:'
e 0<0,d c:?} x =/ (08
Options:

70819160253, WV ~Z=(x 1t y)z

70819160254, ¥ Tz=(xty)z

r— 7

70819160255, *Y t¥=1z

70819160256, “VZ =4

Question Number : 65 Question Id : 70819118368 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
S
If Rolle’s theorem holds for the function f{x)=x"-ax?+bx -4, xe[1, 2] with ¥ | % | =D,
\3)
then ordered pair (a, b) is equal to:

Options :



70819160257. )

70819160258. & =9

70819160259. 55

(-5, —8)
70819160260.

Question Number : 65 Question Id : 70819118368 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1% cRIRe AOANE, 998 fiv)=2>-ar2+br—4, x[1, 2] aéi(f'(%J::u 099) Rags
d6e, 6669 GEa 64 @ (a, b) @Iq -

Options :

70819160257. - 8)

70819160258, > %)

70819160259. e

(=5 —8
70819160260.

Question Number : 66 Question Id : 70819118369 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



limm | 14 = 5 1 is equal to :

_,.
o

Options :

70819160261, 0

b3 =

70819160262.

4
70819160263. ©

70819160264, 1

Question Number : 66 Question Id : 70819118369 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 |_i prsacec

: )
lim |14 £ 0| agie -

n—x n-
\ r

Options :

70819160261, 0

B3| =

70819160262.

i |
70819160263, ©

70819160264,



Question Number : 67 Question Id : 70819118370 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of the fntr_-gral

di is:

Jsinl]_sin 20 {sinﬁl] + sin?0 A sinzl]J V2sin?0 + 3sin%0 + 6
1 — cos20

(where ¢ is a constant of integration)

Options :
1 3
[9 2sin®0 — 3sin*0 — 6sin?0 ]2 F C

70819160265, 18

3

L[L} 24:055!] 3c054l] 6c052|]—‘5 F C
70819160266. 18 '

3

_L ['l'l 18sin20 + 9sin?0 Z-airn"c’ll-‘E b
70819160267, 18 -

- 3
_i {11 18cos?0 + 9cos?o 2{:055[]-‘2 tc
70819160268, 18 - :

Question Number : 67 Question Id : 70819118370 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

aaa0 J‘Sinll.smll] (Sil‘lﬁl] + sin®0 SiI‘IEl]) \/25i114ll b 3sin%0 + 6
\ 1 - cos20

do @ ¢R AT :
(c aRIee i)

Options :
. , 3
[9 2sin®0 — 3sin?0 — 6sin?0 ]2 FoC

70819160265, 18

70819160266.



' 3
1 3
E [9 Ecnsﬁ ] _"*rcns'li] Eacnszi]]z FoC

" 3
13 ['1'1 18sin20 + 9sin*0 :aain*"n]z b e
70819160267, 18 '

3 3
_L ['l'l 18cos®0 + 9cos*o chsﬁll-lz FLE
70819160268, 18 :

Question Number : 68 Question Id : 70819118371 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value ol J‘IEDIIJ ]:fh' , where [t] denotes the greatest integer = t, is :
-1

Options :
e+ 1

70819160269. 3

-
70819160270, 3¢

e |

70819160271, ¢

e+ 1
70819160272, e

Question Number : 68 Question Id : 70819118371 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



( 3 . : .
JxEJlldx,aquw,@ﬂao [t] @ 28, t & €y 9@ g4 QeI < t (66)66) QEANA) 26T :
-1
Options :
e+ 1

70819160269. 3

1
70819160270, 3¢

'r_-fl

70819160271, €

e +1
70819160272. 3e

Question Number : 69 Question Id : 70819118372 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If a curve passes through the origin and the slope of the tangent to it at any point (x, y) is

.
s 8, then this curve also passes through the point :

x—2
Options :
70819160273, (% °)

70819160274. . 9)

70819160275. (5 4)

70819160276, (& 4)



Question Number : 69 Question Id : 70819118372 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

4@ 60IE 9R6REI F@PQ 699 66 @6R ¥e° 9g6ad 089 CUERIEd Q] (x, y) 0IEQ YT

“
adea 6qig

T+ Y+ 8 go0 coce 1@ ageadl M 66 AQARI 398 -
x—-2

Options :

70819160273, (%)

70819160274. (> 9)

70819160275, > %)

70819160276, (4 4)

Question Number : 70 Question Id : 70819118373 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The image of the point (3, 5) in the line x —y +1=0, lies on :
Options :

70819160277, (¥ 47Ty +2)*=16

. 2 ant __,
70819160278, ¥ 27+ (y—4)7=4

e A2
70819160279, (¥ 4"+ (y

)2
70819160280, (¥ 21+ (y—2)

Question Number : 70 Question Id : 70819118373 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

x—y+1=0 6Q8I6a @ (3, 5) 9 OTA FF6a A9 NP A6a ULWE 629 :
Options :

. — AYL mMmd__ g
70819160277, X 4"ty +2)7=16

70819160278, X 2"+ (v

e — AVZ
70819160279, (X ~4)° 1+ (¥

N oF
70819160280, (¥ 2

Question Number : 71 Question Id : 70819118374 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A tangent is drawn to the parabola yzzﬁx which is perpendicular to the line 2x +y=1.
Which of the following points does NOT lie on it ?

Options:

3
70819160281. ©. 3)

70819160282, & 0)

70819160283, > 4)

(4,3)
70819160284.

Question Number : 71 Question Id : 70819118374 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



AIRIGRIRI 2 =6x 98 @ U@ 2F6 FRIIGE, Q1D 2ty =1 64l 98 @A | FORYC 6aw FLE
2| 2060 2986 q6@ ?
Options :

3
70819160281. ©. 3)

70819160282, & 0)

70819160283, (> 4)

(4,3)
70819160284.

Question Number : 72 Question Id : 70819118375 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

"9 9 2 2

- x 1

If the curves, L [ l’;— = 1 and T | ’I’E = 1 intersect each other at an angle of 90°, then
a )

which of the following relations is TRUE ?

Options :

70819160285, @ tb=ctd

70819160286, @ b=c—d

70819160287.

70819160288, @ ¢=b+d

Question Number : 72 Question Id : 70819118375 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
" 9 a

"
g : . 1 X 'S i s - ey
gdeacasioa T + ¥ _18 =+ J? = 1 9920Q 90° 6RIE6R 680 708, 6069 FORYS

_ a ? C
6RR AHRT A0 ?
Options :

70819160285, @ tb=ctd

70819160286, @ b=c—d

70819160287.

70819160288, @ ¢=b+td

Question Number : 73 Question Id : 70819118376 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let « be the angle between the lines whose direction cosines satisf}-' the equations
[+m-n=0and I>+m2-n2=0. Then the value of sinta + cos?a is :

Options:

®|w

708191602809.

oo | W

70819160290.

r| =

70819160291.

| s

70819160292.



Question Number : 73 Question Id : 70819118376 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(6909 6a¢l 90 JRIQ 919 61 (d.cs.), MRS [+m-—n=006E+m?-n?=0 Q @8 Q6Q
8 62AIREE 28FS 6218 a | 6069 sinta + costa & IR B6S

Options :

®|w

708191602809.

70819160290. B

r| =

70819160291.

| s

70819160292.

Question Number : 74 Question Id : 70819118377 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The equation of the line through the point (0, 1, 2) and perpendicular to the line
= .. pEl _a=lk,

= is:
2 3 2

Options :

.
70819160293, 2 4

70819160294, 3 4

5
70819160295, 3 4



5
70819160296. 3 4 3

Question Number : 74 Question Id : 70819118377 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

y—=d. _ NEd: g

39 (0,1,2) A 69 90 @9l 9e° 6ael 9% @A 29l 60gIEa

ACR0EE 266 -

Options :

= g1 BT
70819160293, 3 4 3

0 T e
70819160294, 2 4 3

X _ ¥ | . 2
70819160295, 3 4 3

- | 2
70819160296, 3 4 3

Question Number : 75 Question Id : 70819118378 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L 1
When a missile is fired from a ship, the probability that itis intercepted is 3 and the probability

3 ;
that the missile hits the target, given that it is not intercepted, is 1 [f three missiles are fired

independently from the ship, then the probability that all three hit the target, is :

Options :



i
"-H]|'“"jl

70819160297.

:.‘n|.-_a'

70819160298.

0| W

70819160299.

plz-lu'

70819160300.

Question Number : 75 Question Id : 70819118378 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s gy 1
6EIEEERER YR FIRIRG I9 6304199 R6ad (R06E0) QAIAN, 1019 F§0 Q562910 YRG! 3

. . 3 . e
FIEE 99" 499 GHYEY MAIEEY SRt YRy E(GEE@EG‘G%‘ 2P F@\C} FIER | €9 9R6RIT

680419Q 9. (QIF) SI96R PRIPE FEAD FAILY, 6062 AAY GRERIT 6ATEIY AFICHT
REQI6 ARIGYG! AT :

Options :

1
70819160297, 27

Qﬁ||-—i.

70819160298.

oW

70819160299.

plb-lu'

70819160300.



Question Number : 76 Question Id : 70819118379 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ThoamﬁkﬁMsmbandcOHhequmhmteqmﬂmnﬁuzbeIc:ﬂamrmmhmdbyﬂwmwmg
a dice three times. The probability that this equation has equal roots is :

Options :

70819160301, 26
70819160302. 94

70819160303.

70819160304, 216

Question Number : 76 Question Id : 70819118379 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
¥R 9919109 3 2Q 6@ IRl GRS AMKRG ax+bx+c=0 @ 996 §&& a, b 8 ¢ GG
4@ 9FIR0dR 918 (F9) 98 AAI9 62910 JAINGI 26T

Options :

70819160301, 2

70819160302. 54

M|"

70819160303.



5
70819160304, 216

Question Number : 77 Question Id : 70819118380 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

All possible values of 6 [0, 27| for which sin 20 + tan 26 > 0 lie in :

Options :
b E*-.| 5 lf_r -':r__.r*-.|
70819160305, * 2/ 2 )
ll,[] E\.| o l.-’z jr_Tl"] 5 fﬁ E\
70819160306, © 4/ \27 4 2’ 6
0 '\| |' -%"-'”| | F7r|
70819160307, 2/ B CLEY Bl Y
o e T vl F T
70819160308. ol T ' 5 0 W

Question Number : 77 Question Id : 70819118380 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
[0, 277] 221968 6 § A0 ARAQ GRY IR KD sin 20+ tan 20 > 0 949 6969 0 ORI ASAUF :
Options :

37 )
o (=
2 )

[n z
70819160305, * 2/

70819160306.



ar ) T 31T Ir 1l
(0.7 o (Z.3) o3 tm
4 ) 2 4 ) 2 B
Pl CP 4 bl BT8R Lo
70819160307. = =/ & */ B
(o 3 i \ ‘3 7))
“f1|u|?j|u|"rf_|u =
70819160308. el S . !

Question Number : 78 Question Id : 70819118381 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The total number of positive integral solutions (x, v, z) such that xyz=24 is :
Options :

70819160309. 24

70819160310, 30

70819160311, ~°

70819160312, *°

Question Number : 78 Question Id : 70819118381 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(x, y, z) QIQ YRR YL R Y9, 6UAER xyz=24 @ EFIS AR A°EMI 6T
Options:

70819160309, 24



70819160310, 20

70819160311, ~©

70819160312. i

Question Number : 79 Question Id : 70819118382 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A man is observing, from the top of a tower, a boat speeding towards the tower from a
certain point A, with uniform speed. At that point, angle of depression of the boat with the
man’s eye is 30° (Ignore man’s height). After sailing for 20 seconds, towards the base of the
tower (which is at the level of water), the boat has reached a point B, where the angle of
depression is 45°. Then the time taken (in seconds) by the boat from B to reach the base of the
tower 18 :

Options :

70819160313, 10

70819160314 1033 + 1)

70819160315, 10v/3

20819160316, 10(¥3 — 1)

Question Number : 79 Question Id : 70819118382 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@ G79e A0G 66 6AIR 6OYR 6 6615 671al 9@ GA] G A O 69F 2GQ AT 6966
BIg2E | 692 QQOIGA ERIREA 2ig AP 6RINTA QR0 6RI4E 30° | (6RI0Q A90I7 9109 @
GRIgIR) | 20 626R4 671 AAFE Q1T 628 AId9l 96a (9969 §F 06 29 2794) 6AlaIE B
G060 095Al, 6IR0I6R URRG CRIGR AT 45° 266 | @Q B 0Iq S99a 41962468 6R1RIE
d989IQ 4619 (6962969 ) 26E :



Options :

70819160313. 10

10(/3
70819160314, 103 + 1)

70819160315, 103

70819160316, 103 — 1)

Question Number : 80 Question Id : 70819118383 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The statement A — (B — A) is equivalent to :
Options :

70819160317, * = (A — B)

70819160318, 4 = (A v B)

70819160319, & — (A A B)

70819160320, * 7 A< B)

Question Number : 80 Question Id : 70819118383 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Q@ A — (B— A) §a 909 269 :

Options :

70819160317, * — (A —= B)



70819160318, &+ = (A v B)

70819160319, ©* 7 (A~ B)

70819160320, * 7 (A < B)

Mathematics Section B

Section Id :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required?:
Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

708191765
6
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Mandatory
10

5
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1
7081911045
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Question Number : 81 Question Id : 70819118384 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
. = |
0 la n‘\ E,J r

Response Type : Numeric

Evaluation Required For SA : Yes

L then 13(a®+b?) is equal to



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 81 Question Id : 70819118384 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
. o

0 tan 5

ad A= : 49° (I,+A) (I,-A)"1=

.f”\ ¥ ! “

6069 13(a2+b?)
tan

\2)

qelle

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819118385 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

¥ 2
Z

-
Let A=y x|, where x, y and z are real numbers such that x+y+z > 0 and xyz=2.
z

Y

If AE:IF then the value of x* l'ﬁ ris__ .
Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 82 Question Id : 70819118385 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

i |

Xy
A6eR8 A=y z x|, 60QOIER x, ¥ 6 z QB9 QI 6AOGR x+y+z>0 6 mz=21 Q@
S 5

Al=1, 6069 B+1P+2 Q QR U6E

]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819118386 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the system of equations
kx+y+2z=1
Ix—y—2z=2

2x—2y—-4z=3

has infinitely many solutions, then kisequalto ___ .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 83 Question Id : 70819118386 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
9@ amaad

kx +y+2z=1

3x—y—2z=2

2¥—dp—1z—23

aeee AN RIS 218, 6069 k QIR
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819118387 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The total number of numbers, lying between 100 and 1000 that can be formed with the digits
1,2,3,4,5,1f the repetition of digits is not allowed and numbers are divisible by either 3 or 5,
18

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819118387 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
[,2,3,4,5 2ageq Q1919 «f, 49 6Rl4T 29q Q619 2Q QY9RIQ 98l AU B QIgee 3
@ 5 QIR GRS 628N 6969 100 ¥8° 1000 F1:6a QRIG PQKIQLIGAS Q°¢l FIeTQ 661
oy [ ]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819118388 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let Aj, A, A, ..... be squares such that for each n=1, the length of the side of A equals the
Iongf_h of dmg_mml of 3\ i If the length of 2& is 12 cm, then the smallest value of n for
which area of A, is Ie% than one, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 85 Question Id : 70819118388 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A6RAR Ag, Ay, A, ..... 6R6065IC 96689 6OAR Q601R n(n=1) QIA, A, @ IR AIga AR
(6944) A, ,; @ @da 694 92 QA1 | 93 A, @ 9@ QIga Aa (60d4) 12 62F 266, 6969 A,
Q 68909 101q AIF 6291 AIR n @ ASRE a4 266

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819118389 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of points, at which the function f(x)=|2x+1)~3x + 2|4 “+x-2,xeRis
not differentiable, is

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819118389 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

gee f(x)=[2x+1-3x+2+2+x-2|, (x € R) § 2990010 62IQQIQRYS SQAIRT A8
dee

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 87 Question Id : 70819118390 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let f(x) be a polynomial of degree 6 in x, in which the coefficient of 2 is unity and it has

i)

extrema at x= ~1and x=11If lim =— =1, then 5-f(2) isequal to ___
—0 y

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819118390 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A6RRa f(x), 186 Q19 588 Y@ ORCRIFAZIR(S2aI41E), 6IR0IER 10 @ Q99 | 26E 1e° 9IR

. o gk g ) ,
QeIQ @1 a9hq (23) a4 x= -1 48° x=1 068 28 | €& lim f{—;‘ =1, 6869 5f(2)
=0 x

dela

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819118391 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The graphs of sine and cosine functions, intersect each other at a number of points and
between two consecutive points of intersection, the two graphs enclose the same area A.
Then A' is equal to ____



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819118391 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
sine 3 cosine TRGG GRUDE TOU0T 26RT FREA 689 AA8 YL° QEE AIHIAIY 689 9L A6

6RU0E Q4 QA1 CERTR Q88 6a9 ‘A’ 2INE @08 | 6069 At @ gy
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819118392 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
The locus of the point of intersection of the lines (3 ) kx 4 ky 43 =0 and

ﬁx ¥ 4( \,ﬁ] k =0 is a conic, whose eoceninicily 8 . . .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 89 Question Id : 70819118392 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

(3)kx 4 ky - 443 =006 B y - 4y3) k=0 6adl Qa4 6828QAIRGQ 2910 0
(6RIRQ) 9@ 95 (6RIPR), IR0 AceL@(16a6gds) 26e

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819118393 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

—3 —

A A A —3 A A — A A A
Let a=i+2j-k b=i-jand c =i — j— k be three given vectors. If r isa

— = s A -3 = o

vector such thatr x a = ¢ x aandr- b =0, then r- a isequalto .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819118393 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



-3

i 8 A A — A A - A A A L . s -

A6RR0 a =i +2j -k b=i-j N8 c=i~- -k 676 o0 9P a8 | @G r
) o gl = — — —3 .—> - .—> —

6OITN QG QIS 60808 rx a=cxa 9 r-b=0,6069 r-a Q

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



